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counts as two programs
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Option 1 


(80 points maximum) 


	LAB 3 plus branch flushing as shown in figures 6.52 and 6.54 of the text. 





Use the following test program





	beq $0,$0,label1


	add $1,$1,$2


	add $2,$3,$0


label1: beq $1,$2,label1


	add $1,$1,$2


	add $2,$3,$0


	nop


label2: beq $2,$1,label2








Option 2 


(90 points maximum)


 


	In addition to Option 1, add the overflow exception hardware suggested at the end of chapter 6 in figure 6.56.  Add an overflow circuit which produces the exception with a test program containing an add that overflows.  Show the PC and the trap address on your simulation file.  For test purposes make the exception address 6 instead of 40000040.








Option 3


(110 points maximum)





	In addition to Option 2, redo option 1 assuming branch instructions have 1 delay slot (i.e. one instruction after the branch is executed even when the branch is taken).  Rewrite the VHDL and test program for option 1 assuming 1 delay slot.  You can move instructions around and add nops if needed.


